M9

Equation Solving
3.4and 3.5

e To solve an equation is to find the numerical value of the variable.

e When solving equations, it is important to remember to apply the same operation to
each side of the equation.

e Once we find the value of the variable, we have to carry out the “Check” to show that
even after substituting the solution into the original equation LS=RS.
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Remember: To carry the check properly, substitute the solution and solve the LS
separately from the RS. It is very important that you do not repeat the algebra steps you

used to solve the equation. This could lead to a fake LS=RS result.

Two-Step Equations:
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Distributive Property

A
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Apply the distributive property:
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